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Time ; 2 Hrs. Full Marks : 120
Note : Before answering the questlons, read carefully the instructions given on the
OMR sheet.
PR BTV [TFO0E 30085 OMR BTPa0 DBANS° FIcdES Mrdne e\ HE5S0s.
SECTION—I : MATHEMATICS
1. If the slope of the line Joining the points (4,2) and (3,-k) is -2, then the value of i is
(%,2) 08t (3,-k) & Bospers 8% 56689 e —2 wand, k Deud '
(1) -3 (2 4
(3) 8 (=
2. In the following figure, if DE||BC, then x=

J3
J6

3. AABC ~ ADEF ,
BC=2-1cm, then EF =

(Y
(3)

AAE G~ ADER ) NABE PTesn 9 cm? 58050 ADEF d@egin 16 cm

EF =

(1)
(3)

the area of AABC =9 ecm?

and the area of ADEF=16cm>. If

2 BC=2'1cm sond.

(2) 42 em

(4 41em
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AD _3 B=7
—=— and - 5-6cm, then A
' AABC, DE RopE 5 e ’

AD 3 oo AE =7
&, DE 5:6cm &

o (B0 ABC %0 | BC, — DE-% S0Bafn AC =

(1) 3 cm (2) Scm

(3) 2:lem (4) - 7 cm

5. In the given figure, PA and PB are the tangents to the circle with centre at O. I
J/APB =36°, then ZAOB =

29 S5e0065°, PA S08a50 PB en OSoore Ko ;3.)9:53:33 :)Jdg'éamn. ZAPB = 36° wond, LAOB =

s

s (1) 72° . | (2) 134°
] (3) 144° (4) 154°

» 6. The area of the shaded region in the given figure is

39y H00s® DE Dohad (SBE0 B, PTOF0

Uy

(1) 4n sq. units (2) 16 - 16m sq. units
(3) 16 - 4n sq. units (4) None of these
— FDD 5%
__——-""//
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r .In the given figure, the radius of each outer circle is @, then the radius of the
inner circle is

[N Do’ 198 aafred B0 ENY, T a wand, %5 56 TegeEa

M) (2 & aE
&) a1 (4) aR2-1

8. If the length, breadth and height of a cuboid are 8 cm, 3 cm and 4 cm respectively,
then the total surface area of the cuboid is

2.& &g@:’)o G0, DoY), Désen), A BWIe 8 cm, 3 cm, 4 cm e, &3 &gméo @Y, Sogrgde

Qro’“eazc,o
(1) 48 cm? ! (2) 72 cm? e
(3) 136 cm? (4) 108 cm? 7 ©

9. If the volume of a cylinder is 500 m> and the area of its base is 25 m?, then it~
height (in m) is
2 B0 B, $o99B37e0 500 M 8ot B0 EUPTOR 25 m” wowd, T I8y eSS’
(1) 20 (2), 15
(3) 50 (4) 30
10. If secH+tan® =k, then secB-tan6 =7

secO +tan = k @ond sech —tand = ?

1

(1) k @
1

(3) & 4 =

11, If sino+sinp+siny=3, then cosa+cosf+cosy=

sin¢ +sinp+siny = 3 @owd cosa+cosp+cosy =

(1) © (2) 1

(3) 2 (4) 3
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12. If tan48°. tan 23°-tan42°. tanp7e = tan(A + 30°

), then the value of A is
tan48°.tann3e°.
(1) 30°

(3) 60°

tan42°. tang7° = tan(A + 30°) ewond, A sens

(2) 45°
(4) 15°

4
13. If asin45°= bcosec30°, then the value of a_4 18

4
asin45° = bcosec 30° 90008, z dmgb DD
(1) 1 @) 2°
(3) 28 (4) 2°

14, If sir:L2 0+ cose029 =6, then sin® +cosech =

sir.l.2 6+ cosecQB =6 ®od, sinb +cosecd =

(1) 342 (2) 22
() a2 4 V2.

15. A tree is broken by wind, its upper part touches the ground at a point 10 metr

from the foot of the tree and makes an angle of 45° with the ground. Then what
the entire height of the tree?

25 DeR mOS d0R0A. T 2BRY P Ko, @Ky ario (20) Hood 10 Y ESos® Jod o
J0Botin @8 s’ 45% S0 D008, e ey QoY) oo &) Jo?

(1) 15m (2) 20m
() 10(1++2)m (4) _1‘0'[1_,'_ \E]m

o

16. If two towers of heights h, and : _ '
midpoint of the line jmmng their and 60° respectively at"

feet, i
c€et, then the ratip of h1 3 h2 is

OGO ADE), 2 Do) v
Do d&ig!s §%eren S5 30° H8asn 60° @00, vl Qe DS h bt
“.’ 241 (2) 1:29 :
}3] 3:1 (4) S
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17. If the probability of guessing the correct answer to a question is % and the probability

of not guessing the correct answer is 3" then the value of x is

.5 (SR NOELS HATETH0 0T SaARoss Ko Hogrsgs % 508050 05T BAHBE D8 Bogssh

— 0B, X devd

8
(1) 45 @) 4
(8), 12 . (4) 05

18. A box contains 24 balls of which x are red, 2x are white and 3x are blue. A ball is
selected at random. What is the probability that the selected ball is not red?

24 wodoen Ko a8 DPS® x P, 2x Beo) B08a 3x duo KoiH wotven K. ©0tS° 2o 2.8
208D S, & W& I BoiH SIS B Ko Sogrds

(1) (2)

W= o=
(o)} (4, B SRS

(3) (4)

19. Two dice are thrown at the same time. What is the probability that the sum of the
two numbers appearing on the top of the dice is more than 10?

Bott Lo 2838 JHESTE. TS Sgrep S $oa)e DGO 10 Kok 5D B o Sogrags

2087
1 1
[0 o2 @13
1 @
3B) 76 13

cards of spades are missing from a pack of 52 cards. A card

20. 2 cards of hearts and 4 : % ‘
m the remaining pack, What is the probability of getting a

is drawn at random fro
black card?
52 2% :;bgbm Ke 2.8 5%;6‘ 'f.J‘;)tSo‘,’\J"S"tS 18> Ko 2 sten SoBain 4 seen WyBen 8. RIS DEEY

2.8 555 asyesyBysorT B B Hev) S0 578 )LD Ko Sogrngd

S06
292
1 = @) 36
52
24 24
(BY = ) 26
52 N e e =

SPACE FOR ROUGH WORK /ampx:g .}}r"'?mn

gcollegeduniag



21. The average of the observations 10, 20, 65, 102, 108, 115 is
[ygeds 10, 20, 65, 102, 108, 115 orde @), Siew

(1) S0 (2) 70

(3) 60 (4) 40

22. If 35 is removed from the data 30, 34, 35, 36, 37, 38, 39, 40, then the Meg
increases by

30, 34, 35, 36, 37, 38, 39, 40, SE00S* 35 B FoRodBEENB, TR WEYH desc’ 1,
(1) 2 (2) 15

3y 1 (4) 05

23. The modal class of the following frequency distribution is

&4 508 8Dy DEPresdS G, ePTVTED) BOHE

Class Interval 0-20 2040 | 40-60 | 60-80 80-100
BENE w0880
Number of Students 15 18 ZAREE 29 17
:)53%;0 ‘.;Sospa
(1) 80-100 2) 0-20

. (3) 60-80 (4) 40-60

£ AE

24, zlitt:ei;mde and mean of a data are 24 and 60 respectively, then the median ¢

bgm_:oram OB3008); eTES 9805 08 B

G500 HHT 24 158 2
o650 0 A0 60 @0, e ST
Y 49
W (2) 48
3) 47
(3) e
SPACE FOR ROUG .
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« The imi : ‘
25 upper limit of the median class of the following frequency distribution is

&9 1308 TRV Dereesos®, QOSNG BEKA DD e

Class Interval 50-70
SOAS so¥So

70-90 | 90-110|110-130] 130-150 150-170

ey 15 21 32 19 8 5

Y50

(1) 110 @ 90
(3) 130 4) 70

g 0L -
. _210 s a

140
210

VN8 &l

(1) terminating decimal
@083y tePoEo

(2) non-terminating and repeating decimal
oo S0 H0BA SIE BTOT0

(3) ﬁon-terminating and non-repeating decimal
@0t 5°0 S8k esHH0 PR ET0BO

(4) None of the above |

D 5°D)

27. The remainder when the square of any prime number greater than 3 is divided by

6 is

3 Eo8h JENPO PR S 0a); G308, DO 6 D grRodm Do) BAH0
(1) 1 (2) 2

(@ 3 (4) 4
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| 8. Which of the following statements is not carreeks
25! , _

1
3¢ (208 L;&D-:ﬁa"ﬂe‘)'ﬁ H8 BBAYHB 5°E? a

(1) Thesum of a rational number and an irrational number is an irrationa “urnh,

p¥ oS So S0Bat a8 EBESADH oz BuBo &8 ¥65e3a5 R0g)y ©)B08),
(2) The sum of two irrational numbers need not be an irrational number.
Bock 8830 Hogse Do &k SBeaD Pog)y SHVHE0 B.
(3) The product of a non-zero rational number and an irrational number jg
irrational number. - San
2.8 2RgHE e5e8oh Sog) SuBak 2.8 S50 o530 ©R0 &8 S8E3D Sog)s eBes
(4)  The product of two irrational numbers is always an irrational n.umbel:
8ot S¥e3ah Sogse oo DYIPET 2.8 S8edah Sog)y eBo08. ber,

29. The HCF of 306 and 657 is
306 35800 657 e K. .50,

o o “ 7
30. The value of log, 32 is
log, 32 Qg dewsd —
};1:,; i (2) 32
(4) o

31. If A=(10 ya _

o | Wing is incorrect?
ASB2095) 0wd, 5 808 706" 96 w0osa sy
(1) B4ea 4 '

B) B4yca @ {B4)ca

DY 5%%)
' ; € two sets containing

3 and 6 ele
aXlmum number of eleme vt

nts in Aupg»? # espegtiVely, then wha

D A 5605 B ey S5 ) |
J ™ 3 50Bakn 6 &
« mg%% et QeSS 5OR %@mé. AU B&® Yot N
(2) 10
| ) 12
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33. The number of subsets of the set A=

{p,q} is

A={p,q} & S088 Ko &% Basue Rog)s
(1) 2 ) 4
(3) 3 (4) ©

84. Which of the following is a polynomial>
&2 808 TS I8 a8 w0587

x° —3x +1
(8) 5x%2-3x+ ' 2_3
| 5x° —-3x+42 (4 2x +3
5

35. If a and B are the zeroes of the polynomial f(x)=6x%+x-2, then the sum of
zeroes is

flx) = 6x2 + x — 2 &5 2350568 Ko BRSO O, [ 000 T3¢ 3o Dedd

=

o |-

(2)# “l_

(1) ~

1 : 1
B == @ =
36. If the zeroes of the quadratic polynomial ax? +bx+c(c#0) are equal, then
ax? +bx+c(c #0) &3 B8 WIVIB B0y, WrRrged BAIrSS

(1) cand a have opposite signs (2) cand a have same signs
o 538050 a e :)5835 800 c508a) a ev 28 S $OR
EOR Hoeron DoeTan
(4) None of these

(3)¢ b2 #4ac
B 5°)

37. If o, B, y are the roots of 4x° —6x° +7x+3 =0, then the value of af+fy+ya is

4x3 _6x° +Tx+3=0 GIE), IrereD o, B, yeo eond, off + Py + yo B8, DD

1 - 2y

L BN

(4)

b

SPACE FOR ROUGH WOR I /.‘.’]ﬁ‘ij}’)‘“{}ﬁ .%o:o:;m
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=0 and agx+byy+cy =0 hag a
' U

38. The pair of linear equations ax + by +c¢
i

solution, then
31\ + b_l,y ‘l‘Cl =0 :13505.1) azx i b2y+02 =0 @3 3@053 521)552'3"8) 33{9&‘0 b§§ Ea‘ﬂﬁr‘f} @Da
lﬁg,;

L 4 7.9
e e @ 2, "b o
iz (- UL | @ :_;=%

[3] a2 bz 62

39. Nimra went to a bank to withdraw ¥2,000. She asked the cashmr to give j
ve er ?

and ¥100 notes only and she got 30 notes in all. How man
¥50 and Y100 respectively that she received? Y Dotes

(1y 20, 10
(3) 10, 20 (2) 15,15
' (4)

40. If 2 is a roo
t of
theequatlonx S andp o ;
= 74, then the other root is

=]
X —-px+q 0 &3 :’::&Jgdw:ﬁza,gwea’m 8oy p2
: p

(2) 2

@) -2 = 49 ©an8, 9087 2yyess

[ o )
gcollegedumag



42. [;the Erea of a rectangle is 112 m? and its length is 6 m more than the breadth,
then the breadth of the rectangle is

w8 BF B850 @y, TR 112 m? 9800 G0 Gk, arcssd), Dekey) o8 6 m IS w0, @
153 DEOGvo oY), Dt

(1) 8m (2) 14 m

(3) 10m (4) 12m

43. Find the 10th term of the arithmetic progression 5, 1,-3,~7,....
5, 1,8, 7,.... %0 0¥ B %o 105 55350 SN TS
(1) 31 @2y -31 ‘
(3) 30 (4) -30

44. The sum of first 10 terms of the arithmetic progression 34, 32, 30, .... is
34, 32, 30, .... &% o8 B H0&H o 366 10 Sere 3o
(1) 200 (2) 225
(3) 250 (4) 275

L PR D

is

gees

oo |-

45. The 12th term of the geometric progression (G.P.) 2,1,%,%,

11 1
1=, ==, e BEST 12 B S56H0
L3228 Be
1 1
(s (2) 8
1 e )
3 ST (4) 510

46. Which of the following is a geometric progression?

Bo8 708" (e 287?
(1’ _1- _1_1 l}'” (2) _2,—41_12,.‘.
) 24 8
2
(3) 3,4,6,12,... (4)  x,1,%2,...

SPACE FOR ROUGH WORK /0508 Rediu
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47. The coordinates of the point P which is equidistant from the three vertices of

AAOB as shown in the figure is
30006 45D AAOB [@60e30 B0, 0776 Hore 008 $5I°0 Er80s” i DB P 0008, demge,

T
A(0, 2y)
=
< X
0, O)O B(2x, 0)
(1) (ay) (@) (y,%)
£y
(3) (Q’QJ ' (4) (%’g}

48. In what ratio, Y-axis divides the line segment joining the points P(-4, 2) and Q(8,3)?

P(4,2) 58050 Q(8,3) Bocupess £9% Bar P0G Y-e¥0 ) DHBS® 9852930087
(1) 3:1 2y 1:3 B =
3) 2:1 (4) L=z

49. If the centroid of a triangle formed by the points (@,b), (b,c) and (c,a) is at the
1 2 ] 3 ] ]S
origin, then 3 +b3 408 = i
(@,b), (b,c) H98a50 (c,a) DooHes® H
» (byc, ) DHES 9800 Bow). Koo
| &¢ o
| Deond, g3 4 b3 ;o3 - ‘ e

fi) abc (2) o
3 a+b+e (4)  3abc

50. If the points (1,2), (~1,k) and (2,3) are collinear, then the value of k i
€0 18

(1,2), (~1,k) 5085 (2,3) @B Bosrsyen SBPATSB, k vewvs
(1) 0 (2) =1
(3 1 | (4) 2

SPACE FOR ROUGH WORK / DEIDE R
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g. The light which hag * PHYSICS

5 .
KB DD §%0 ¥R MaXimum gy, |
Q S'od BoKs El€ of deviation s
(1) red
i (2)  yellow
(3) violet S99
&eTe (4) green
SES
52. Blue colour of the g s ;
of ky is due to the scattering of light by the atmospheric molecules

5730 DO SoMHS® K55
56830, 1808 Agwa O srErstes HESrEngeD s0d $8ES00 Botko

(1) H,0
(@) H g,
’ (4) N,andO,
N, S08a50 O,

53. The power of a lens of focal length 20 cm is
20 cm TgrgeBo SORD Seos d-ngso
(I) SD . (2) 02D
B) LD (4) 2D

54. In hypermetropia defect, the image is formed
Qg Syl &%306° )b (PR RpROB)

(1) beyond the retina (2) before the retina

Bl 50080

39555" i ; (4) Does not form an image
(3)“op b etas B®BowO DEE

BeSTr R

; is the distance between
-ey€; 2:5 cm
55. For a normal human e

S mletar) S7eRl ¥0e38, 2 o (2) eye-lens and retmeT u
(1) eye-lens and cornl e Koo KeoseRS 0B Bedard 6

goes 5M5°$g ;’1}50‘5-13 '5"691 (4‘) retiﬂﬂ ﬂl'lfl (}l.'l‘it.";‘l

and cornea B HoBai :a@’:{)_j_:if‘_:'{'.__-———-—-— " LAy

(3) retina

BSTED %5805 5*) tH WOR

K /qu_:sz}é‘. RN
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e e i5ion ShiftS to
56. In old age, the value of least distance of distinct vi1s

QYIRS RS SOJETE0 Devsd 9778 QeRI0
‘ (2) smaller value

(1) larger value y
), 20D P

Q)R DEVD JaNSd Rl
~ e
(3) Does not change (4) None o
VR balefal) o) 5°0)

57. Electric power is the product of current and
DS Y0 GRING DS (Wi DBy © 0.

(1) resistance (2) charge
6°¢0 &0

(3) velocity (4) potential difference
3o | VYOS B

58. Three resistors each of 4 Q, 04 Q and 0:04 Q are connected in series combination
Their equivalent resistance is
42, 04 Q 280 0:04 Q devden EORD 2 D8 Gres0 B3 Somrso SO, T3 208 95°%0
(1) 480 (2) 444 Q
@) 49 (4) 044 Q

59. Pick the correct answer from the following two statements :
1808 30(3)3‘“5‘33 od ABALH FATPETHo JoEd ¢

(@ Ohm’s law is applicable to semiconductors,

OSTIrsen L5 DORDIR) 633000,

fb} Ohm’s law is applicable to metallic conductors.
S Trsren 6.5 RADHBIRY) Do,

(1) Only (g) is true | (2) Only (b) is true
(@) $32@3 deso (b) S35 Do
.me Both (a) and (b) are true (4) Both (a) and (b) are false
(@) 55805 (b)Bockr ey () S0Bok (b) oy 5918

SPACE FOR ROUGH WORK / DBOSRE R0
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tion.

5‘:50

60. 6 watt X second =

61.

62.

63.

6 TeR X VI =

(1) 6 volt Blve i
° SG§ 6 &0

L Oseuls (4) 6 coulomb
s 6 resrod

The relationship between current and voltage is established by the scientist

DES (T8 ook S7esd S0¢g Mo Sowogery Boerd) B TIHE

(1) Faraday (2) Oersted
DT eoHERE

(3) Kirchhoff (4) Ohm
Soo)9 | 55

The electrical energy (in kWh) consumed in operating a bulb of 40 W for 5 hours a
day in a month of 30 days is

40 W 55850 SRS a8 63055 w0q)0 8%t 5 fowe 2DETAY, 30 Feres Ko Jos® DdBHo ey
3&55 48 (88° ey Kotes®) _

(2) 6
(4) 15

(1) 12
(3) 3

Which of the following is not a measuring. function of a multimeter?

55920626 DD FBE o8
(2) Current

(1) Charge
DS (S0
i (4) Résistance
(3) Voltage v
s i ROUGH WORK /%3508 Rea00
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[, then
64. If R is the resistance of a conductor of length

685.

I e No armso Gws), 86°0 R eond

1 @) Rel
is i dent o
' (4) R is indepen
(8) Re

13 R o5t |

- . - T " 1.
Two currents 3 mA and 5 mA are flowing towards the _}UﬂCtlDﬂf]ﬂ a c:lrm]; It ang
i - ) < b i :
three currents 1 mA, 1:5 mA and x are flowing away. The value of x (in mA

3 MA 208a 5 mA @ Boc DSo5B Fen a8 B5E D0AHOSTD 508 DY 2BasH 1 my,
'S mA 208050 x ev 508 8008 Krmsore (55575 x D (mA o6%)

(1) 8 (2) 105
(3) 25 (4) 55
66. 1 tesla =
1 &=
(1) 1 weber (2) 1 weber /metre
1 305 1 305 /8565
(3) 1 weber/metre? (4) 1 watt/metre?
1 S8/ 506,62 1 ey /506062
67.

The phenomenon of electromagnetic induction involyes the process of
Dol 08 BIRICHOS® estiorsy BEah

(1) charging a body

DY e FHS5B80 Balico

heating a coil

@ff{ﬁ)gm 3é Soeso |
pProducing induced current in a ¢oil
e%ﬁﬁ;&)@ﬁ (8¢ Dgd Kol Sahreso

preventing damages due to overload

(2)

(3

(4)

LBt wY K‘JEE\'_‘J

) DrBowE

—_—

SPACE FOR ROUGH WORK /9%598 sasins |
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68.

69.

70.

If Ab and A are

: the change ; .
induced EMF jq 8€ 1IN magnetic flux and time respectively, i h

ROR R0
Ad
1) —
( At (Q;J ﬁql
At
(3) A®. Az At
(4) o
(4]

(1) north-east direction (2) east-west direction
SEE-6r8y) Bew B~ 5e5508 Bhen
(3) south-east direction . (4) north-south direction
&855-858 Ben

déea—éﬁdjﬂ} Bzen

An increase in magnetic flux through a coil of 100 turns in 0-1 s is 0-001 Wb. The
meaximum induced EMF generated in the coil is

100 0620 EORD SiBS° 001 s &° Eeoih ©aH,08 ©Pzd &G 0-001 Wh &an® &)t #85

(288 aEsEonof wodn Jod
(1Y) 1V (2) 10V

(8) 01V (4) 100V

SPACE FOR ROUGH WORK /98508 RN
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three quantities namely
. ¥ O 2 50D oo o 0 S0 BaTe) oVRe ORI
©OLRY, 08 Fos® Sehrendud) edsop SODAY & )

(1) charge, speed, electromotive force
e5D%0, 38, :)ei)égabe)g 2080 |
(2) charge, magnetic flux, magnetic flux density
e53%0, ©aHI 08 wPITTTO, ©0DR), 08 9T 0SS
(3) charge, speed, magnetic flux density
%0, J&, 00,08 PTT® o
(4) charge, speed, current
&350, 5&, DS (S0

72. An auto driver started an auto rickshaw with the help of pulling a rope. The device

TGS eSS0 '
(1) multimeter (2) transformer

20826:8 LEJ‘SG)W&E
(3) dynamo (4)  voltmeter

& S doeod

73. Faraday’s laws of electrom

agnetic induction jg g consequence of
FET DRSEADIY 08 D5es W@ 9505805, Qoo

“ (1)  conservation of mass
63508 Do k
(2) conservation of linear Imomentum
OO0 (52555 B0
(3)  conservation of angular momentum
o (55350 ABsthoo
(4) conservation of energy
& Do
SPACE FOR ROUGH work [ DEBO8 sy Sk
- o
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74.

75.

76.

77.

The C.G.S. unit of heat energy is

(1) joule @)

kelvin
FS
3955
(3) dioptre (4) calorie
Girps 35%
IER7SC % ¢ = 300 K, then the value of x is
27 °C + x = 300 K eond x dens
(1) OK . (2) 327K
(3) 273K (4) 300K

The pair of substances which have the same value of specific heat is

28 DBPH0 Jewd EORD wow F'AY ooden

(1) copper, aluminium (2) zinc, iron
5256, @er5d0R0h0 2208, 30s0

(3) ice, kerosene oil (4) water, ice
:130513,. 85%0 D, Hoowd

During the process of conversion from liquid to solid, the internal energy of the

water

(550 B006 Do Sergorr BEd (SEADHS?, He3 eotid ¥§

(1} increases (2) decreases

255576308 B

: 4]
(3) remains constant (4) None of these

goore 600l ﬂ ea— —

- T,
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op i cess of
78. Formation of dew and fog is due to the pro g
g
roreY BB DDI0W bd)dje.asj 5890 @00N D ofd

79.

80.

81.

(1) melting (2) freezing
(3deFHRo DodgfHvo |
(3) evaporation (4) condensation
EPRpEfo Ao0BE8Es0

al temperature of
40 g of water at 40 °C is added to 10 g of water at 80 °C. The fin P

the mixture is

' : GB); B8
40 °C &610%8 SRS 40 . 532 80 °C e RS 10 7. He38 5EDmeEo. D> oS0 Y

&S
(1) 48 °C (2)
(3) 120°C (4)

40 °C
64 °C

A light ray bends away from normal when it travels from

5708 $8£20 ©00 RO ErvEome DORDI &0ty afrny 33°80)

(1) air to water (2)
mé 5006 He38
(3) water to glass (4)

063 3008 rress

If v, and U, are the speeds of light in the two media

respectively, then

water to air
eI 200& e
air to glass

18 200G reew

of refy ive indj
elractive Indices n, and n,

Vo ny Un ny
2
(3 k==L v _nj
Y2 nj (4) Us o

ni
SPACE FOR ROUGH WORK /Do
V308 AR
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84.

b

§3.

The speed of |; A
t
index 4/3 is Bt in Vacuum jq c

(1) refraction

J8egS5H0
’ JT°EHo
(3) total Internal reflection (4) dis = i
‘ | persion
QOF 0B S50 IS |
£20 I

A rectangular tank of d
epth 4 m is full of water of refr
acti d
viewed from the top, the bottom of the tank is seen at a deptt:r E1!:}fm e

4 m S%) EORS 2.k ag WDEE P55 &84/3 51885550 De0s EORS HBE® Dol @od, 2 g0 Sood
BIEADIHE &8 et gKB0 E0dody 6“&)

(1) 3m (2) 2m
(3) 1-33m (4) 1m
A convex lens gives a virtual image when the object is placed on the principal axis

2.5 r08775°8 K80 TR |STTIRECR b@g;&o DG S0 GOINY T (DSLowo yE0B0B?

(1) at infinity
@0B BI60S"

(2) at centre of curvature

| Bigee Solo 2g

(3) between focal point and optic centre
ok oD S80IV 255 Boyo 2065

(4) between focal point and centre of curvature
oD Potsss) S80I DET Boso DG

SPACE FOR ROUGH WORK /aeﬁamg Arroan)
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86. Irrespective of the position of the object on the
always forms an image of nature

. ' co
principal axis; &

ncave leng

SROYR SETEOD S0 %,,;6056 5000650 BEIOG®, 2.8 FHeIsE Kewso Jgﬁa}}c‘.ﬁ“ 5%533 158202 Jgevhg
(1) real, invert (2) real, erect

Des, Bogodeunr . 02, DLOLODT
(3) virtual, erect (4) Does not form any image

0T, DYDY 58D020 HGLE

87. The lens which is bounded by one-curved surface is

25 DEo0o $IR &) Sw¥o

(1) biconvex (2) biconcave
BgSoersy Bg)ersed

(3) piano—concave : [ﬁ)’ ~ concavo-convex
DBR-JersE DTS5 -50875°8 .

88. If 25 cm each is the object and image distances due to convex lens, then its focal

length is

25 cm © 5 $reo Hobokw |S@BonE S0 KR &) 05ty Seodo QY Tgrg0B80
(1) 50 cm (2) 25 cm

(3) 15cm _ (#) 12'5 cm

89. The angle between paraxial rays and principal axis is -
Fo8y00S S8eroHd B8 Permrss Bogs s 50
(1) 0©° (2) 45°
(3) 90° (4) 83°

90. Splitting of white light into VIBGYOR colours is called
Bt Sof) s7od) VIBGYOR Sorheor H3259) [5(8a%h

(1) scattering (2) dispersion
2% Hevo - -3.)3\;’38'30

(3) total internal reflection (4) refraction
R Mo et e SovHBd0 985590
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SECTION—III : CHEMISTRY

91. Identify the correct statement.
98 Lo PeSA0e5H K800
(1) By losing electron chlorine becomes cation

WO FOD § S50 mgoe 58S SPaoeRIm 5K
(2) By losing electron chlorine becomes anion
SOFRR S50 o §968 essatrEm St
(3) By gaining electron chlorine becomes cation
DO TR DB Teoe $88 SealRIm Sty
(4) By gaining electron chlorine becomes anion
DOFOR 2050 Do §65 st D,

92. An element i 3X27 folims ionic compound. What is the charge on X’ in ionic compound?
1 3)(27 &R D00 @iy TR DEED0B. @005 e S5°Fos® X’ Bareso Q¥ &D%0 (charge)
Q0% ?

(1)- +1 (2) +2
(3) +3 (4) +4

93. Linus Pauling proposed the concept of
BRS 2200 (5028005 g5 H87
(1) ionic bond (2) hydrogen bond

07 D¥ 080 PG s oo
(3) hybridization (4) covalant bond
$50E888e30 Po@rreEdod oo
94. Electronic 'conﬁguration of 072 ion is -
072 asro 8, oS dgoan T
(W) 1% 2s%, op* (2) 182 25%, 2p°
(3) 182 252 2p° (4) 1s% 2s°% 2p
)5. The number of electrons gained by non-metallic element is equal to its
2.& e Hareso 2089 DOET0 SoPF TR 9o,
(1) wvalency (2) group number
d00) () 5‘?“"‘%5 ‘
(3) bond angle (4) All of these
e —
| 20 §%0 .
P SPACE FOR ROUGH WORK /805508 v
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96.

97.

98.

99.

100.

ill be
Reactivity increasing order of the following

]
808 Barosos® Borion DOR 0 “d 2) K Ca Na
(1) K, Na, Ca: @ Na K Ca

(3) Ca, Na, K

Poling process is used to
9of &R B8R §°5% TeT.

reduce the ore
(1) concentrate the ore (2) T

208 Pdes Ao DL e EbsGe0 ,
(3) heat the ore with O, (4) p1_,1rify the grade anctal
oSyaSSi ooy 6 Dabes S'TRG
Corrosion of sﬂQer results in the formation of
D06 Ko SoBsdEy M.
(1) silver chloride (2) pure silver
degh 538 SR Dods
(3) silver nitrate (4) silver sulphide
desb PEeS Db 58)6

During corrosion, a metal will

%500 o150 SoB59)¢, e S*rh

) b idi
(1) be oxidised (2) lose electrons
29888830 Booso e
)
(3) be reduced BPoo §'ShHR0

(4) (1) and )

05058820 DosHridy
(1) $98as% 2)

&8), (K9 @507, NH, 008 2. PIE S,

0
(1) aldehyde %ﬂ"‘mh—ﬁm‘é) B0,
(-32?{5 (2) kEtone
(3) amine 86588
w5 4)  ester

“
SPACE poR
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ORK /&y
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101.

102. Ethene and ethyne differ in the

103.

104.

105.

(3)

What is the structur:

808 596" @ RGSeD |

1) CH;—0—cy,
(@]

(3) CH; — l(“L— CHg

B 08 2PS B0 wowes

(1) number of carbons
S*E)ve Soag

(3) number of hydrogens
TG ESe Bogs

Identify the dimethyl ether.
BPS Sa8B w0 HoBoidod

(3} NCH, — C— OCH;

Saturated hydrocarbons contain

al formula of simplest ketone?
simplest) 865°5 Ha9

(2) CH,— NH,,
i
(%), €H; —C —0oH

(2) number of bonds
20650000 K)oa)?s

(4" (2) and (3)
(2) 20800 (3)

(2) CH,—O—CH,

(4) CH; —C—OH

HotyD B S E)Sen ¥R oo,

(1) at least one double bond
ED%o 2.8 Bgwodo

(3) all single bonds
eB) D& WOEBNLO

Aliphatic hydrocarbons are
590638 1;:@55“5?)5& 9D

(B0) closed chain hydrocarbons
| BoByD RO “&g’;L&“S"dz)Sen
open chain hydrocarbons

21596 Howe LESG

SPACE FOR RO

(2) at least one triple bond

Do a¥ |Bwoso

(4) at least one ionic bond

¥550 a8 eairdE 20650

(2) acyclic hydrocarbons
o5 B B8y den
(4) (2)and ()
(2) %080k (3)

£l iyl e
UGI’“I I'\J\‘r()l\l K /tgmlu)n)a n\:;‘ka.;‘ln
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106. Which one

107.

108.

109.

——

i ge indicator to detect acid;
i sed as acid-ba t
of the following can be u di

basic nature of solution? ) L R
[@FRe0 GBY), e §TY OFFTON Be0VETRLWE) |:
(1) Turmeric solution (2) Litmus
S0P [EHe0 Doy
(3) (1) and (2) (4) None of these
(1) S08ck» (2) 9D 5%
If pH of rain water is less than ____, then it is called acid rain.
S8 V¢S pH dewds _ ¥od B, &Y, TR &) Yo eoerDd.
(1) 56 2) 76
(3) 66 (4) 86
Tooth enamel is made up of
SoBn Sk, WS & 2653 doswos.
(1) calcium sulphate (2) calcium chloride
s*daho 36;,@5 s Qa0 gp:;a_ &
(3) calcium phosphate (4) magnesium sulphate |
S29aho ag)es EUGIRO $S)eS

TrAA00 TFEHE [@e0% ) S08ak B VR S0 D DI, ot H 5, KoBR?

(1) Red litmus remains red and blue litmus turng to red . l
D8 end IHHTS dottrso, 500 b DeND DHHT Sy

(2)  Red litmus turns to blue and blye litmus remains biye

25 deyd Doome B, 500 be Do DoormS docrsy

B, em—

(3) Red litmus becomes colorless and blue litmus remains blue J

DD Oed 58 Sirito eiisy, s b Deyd Deoond docom

4  Red li ' '
(4) Red litmus turns to blue and blue litmus turns to red
WS - o - P
29 D beon DI SuBak Hé DN T o058
SPACE FOR RO UGH WORK o) R ' |
b 2 /mjga.bé '?,;“3511’ A
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110. The m 1
e aximum Number of electrons in M shell
SSoes*
2000 g0 ﬁﬁg .,)Q)LE:;&)Q, ;50@§
(1) 2 |
(3) 18 ot
(4) 24
111.
\;Vlnch of the following orbitals does not exist?
1§08 avz)e:‘ ) &38y6r§ Desoore SOEEH?
(1) 2p 1
®) 412 b
. (4) 24°
112, Niels Bohr receiveq Nobel Prize in
D&y 5% — 308" Stanés D80 Fowthy?
1) B
(1) hemistry (2) Physics
(‘51'?‘05.)?6 DY
(3) Blochemlstry (4) Biophysics
BSEeaitod BT RY
113. The number of degenerate _orbitals present in 4d subshell is
4d e8yerss® o8 B8 Ko éﬁs‘q)oben oa)g |
(1) 8 . (2) 10
(3) 5 : At @ 4
114. Presence of 3 unpaired electrons in nitrogen can be explained by principle.
DS eSS 3 asbEIresd aagmw GOLEER) DIBOD DALBIBY
(1) Aufbau SRR e ) Paul
@HaF® DOHBIN ) o
(3) Hund o - @ Bohr
508 DADB0B 576 dabiuse
115. Strong ionic bond is formed between ' and ___ group elements.
WOHD SOITPOE BOGO He (T Borese 20655 DD
(1) 1A andIIA (2) ITA and VIIA
3) 1A and VIIA (4) IA and VIIIA
— SPACE FOR ROUGH WORK /98508 2:i550
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116. 1% 2%, 2p° 382 3p° (2,8,8) configuration is related to
1s%, 262 2p9, 362, 3p0 (2,8,8) omgssn & Bowofodda.

(1), p3 @ o
@) s () allietithese
g@din

117. Lithium, sodium and _ are Dobereiner’s triads.

O8abo, 2:8aho 2Basn ' . @9 Gbpd Las:‘meb-

) s = (2) Ca /
(3) ci (4 K -
A
118. IV A group clements are called
IV A group suresesy Y209 eVRRE?
(1) carbon family (2) chalcogen family
S8y 60020 TG 230 6300830 y
(3) nitrogen family (4) boron family <
DS Hewowo ' £°0°S Hewoeo

¥ 119, 4n ’ |
-2 element X belongs to 2nd group and 3rd period. What is its valency?

i

: 23 07 B 3 S H80HrELy VO8RS X’ 9% Borrero ), Doy
(1) "1 @) ;
(3) 3 ) @) 4

120. Valance Bond Theory was Proposed by

B00) 204 DEFBAH (SOFoa8s
(1) Lewis (2)
2)

: Kossel
00D
(3)  Pauling A
4
e (4)  Bohr
&6

ACEFOR ROUGH work /D508 iy .
-l D
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